3922 407 49471;7 FRONTMODULE HDTV NEXT

Ref

— ot ok ek
Sl O©ONOO NN =

0 O U1 A WOWOWOWNMNDMNDDNDNDNDNDMN
O PP OODWOOUOI 2O OCONOGPA~,WNO

214
290
701T
702T
703T
706
708
709
722T
730
811
816
906
939
951
u12
U13

Description

OPTICAL MODULE HDTV NEXT
PLATE

EMC BOX ASSY

CABLECLAMP

COMPRESSION RUBBER
CELRUBBER ZK/CR FEST 10X2MM
COOLING PLATE

COOLING PLATE

INSULATING PLATE

INSULATING FOIL

IR FILTER LDK100

SPACER

O-RING 4.47x1.78 COMPOUND VITO
SPRING LOADED BALL BUSH 4
PUSH KNOB

RUBBER KNOB

AUDIO LEVEL KNOB
COOLINGSTRIP ASSY

COOLING PLATE HD

HEAT TRANSFER

CONTINUOUS GROMMET STRIP
WORDMARK GRASS VALLEY 35MM
FLEX 30P L=85MM

ISOLATIE STICKER
SWITCHRUBBER

BRACKET

BLOCK

PELTIER ASSY

PRODUCT ID STICKER MECHANIC
FLATCABLE FRONT

WIRE ASSY

COAX CABLE SET LONG

CSK WASHER STL ST M2

WIRE TIE 2,3X92 PA

PAN SCR STL ST M2x4

PAN SCR STL ST M2X6

PAN SCR STL ST M2X8

CSK SCR STL ST M2x4

WASH STL ST 2,2X5

SPR WASH STL ST 2,1X4.4

CSK SCR STL ST M2,5x6

SOLDER TAG SINGLE M2,5 BR SN
LOCK WASH STL ST A4 2,2X4,5
CSK SCR STL ST M2x5

RUBBER GLUE SYNTHETIC NBR 042
SCREW LOCK 222

HEAT SINK COMPOUND

PPG HDTV

PRE PROCESSOR BOARD

Part 12nc

3922 407 49461

3922 400 10041

3922 401 48661

3922 400 08512

page: 1-2

Service part

No

Yes

Yes

Yes

10/9/2007



3922 407 49471;7 FRONTMODULE HDTV NEXT

Ref

ui14
u15
u16
u17

Description Part 12nc

FILTERWHEEL DRIVER

FRONT SWITCH PANEL
INTERCON. BRD. ZOOMCONTR.
PPG SUBBOARD

page: 2 - 2

Service part

10/9/2007



